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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
la 16579 1.4 0.9 2 70.1 96.1
1b 16442 1.5 0.8 2 73.2 95.3
2a 16882 1.4 0.8 2 70.6 97.8
2b 15376 0.6 0.8 2 29.8 89.1
3 15274 2.7 1.7 6 45.4 88.5
4a 17152 1 0.2 1 96.3 99.4
4b 16583 0.6 0.5 1 61 96.1
4c 16920 1.6 0.7 2 79.8 98
4d 16710 3.2 2 6 53 96.8
5 15068 34 2 5 68.3 87.3
6a 16953 0.5 0.8 2 22.7 98.2
6b 16645 0.7 0.9 2 34.7 96.5
7a 15864 0.7 0.5 1 70.9 91.9
7b 13574 0.5 0.8 2 24.5 78.7
7c 15445 0.5 0.8 2 25.3 89.5
8 16882 0.4 0.5 1 35.4 97.8
9 16203 1.5 1.3 3 49.8 93.9
10 14324 0.9 1.3 5 18.5 83
11 14689 1.7 2.3 6 28.8 85.1
12a 14235 0.7 0.9 2 34.6 82.5

12bi 13269 0.5 0.8 2 22.9 76.9
12bii 11018 0.4 0.5 1 35.7 63.9
13a 15079 0.9 1.4 3 30.5 87.4
13b 14082 1 1.4 3 32.9 81.6
14a 11873 0 0.2 1 3.2 68.8
14bi 13105 2.3 1.6 4 57.8 75.9
14bii 11995 0.5 0.5 1 52.2 69.5
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4. (d) (Amounttaken =228 x £2.50=) (£)570

(Expected number of winners = 7/12 x 228)
133 (winners)

(Expected prize money = 133 x £3.50 =) (£)465.5(0)

(Expected profit = 228 x £2.50 — 133 x £3.50 =)
(£)104.5(0)

Bl

Bl

Bl

Bl

If 7/12 or correct % or decimal seen in part (c), it must
be used for this B1.

FT 228 x ‘their 7/12’ provided less than 1.

Allow 133/228 or ‘133 out of 228'.

Must be whole number.

Award BO for

7/12 x 228 = 0-58(333...) x 228 = 132 winners.
Award BO for

7/12 x 228 = 0-6 x 228 = 136 or 137 winners.

FT £3.50 x‘their 133’ (provided < 228).
(E)570 — (£)465.5(0)
FT ‘their (£)570" — ‘their (£)465.5(0)'.

Award B1B1B1BO for sight of
228 x £2.50 — 133 x £3.50 with an incorrect final
answer.

If the FT results in a loss, the ‘Loss’ must be stated, or
the answer left as a negative.

© WJEC CBAC Ltd.






4. (d) Alternative Method 1

(Expected number of winners = 7/12 x 228)
133 (winners)

(Expected number that don’t win = 228 — 133)
95 (non-winners)

(Amount taken = 95 x £2.50 =) (£)237.5(0)

(Expected profit = 95 x£2.50 — 133 x£1 =)
(£)104.5(0)

Bl

Bl

B1

Bl

If 7/12 or correct % or decimal seen in part (c), it must
be used for this B1.

FT ‘their 7/12’ if less than 1 x 228.

Allow 133/228 or ‘133 out of 228’.

Must be whole number.

Award BO for

7/12 x 228 = 0-58(333...) x 228 = 132 winners.
Award BO for

7/12 x 228 = 0-6 x 228 = 136 or 137 winners.

FT 228 — ‘their 133’ (provided < 228).

FT £2.50 x ‘their 95’ provided < 133.

(£)237.5(0) — (£)133
FT ‘their (£)237.5(0)’ — ‘their (£)133".

Award B1B1B1BO for sight of
95 x £2.50 — 133 x £1 with an incorrect final answer.

If the FT results in a loss, the ‘Loss’ must be stated,
or the answer left as a negative.

4. (d) Alternative Method 2
Working with 12 players
(Amount taken = 12 x £2.50 =)

(£)30(.00)
(Expected prize money = 7 x £3.50 =) (£)24.5(0)

(Expected profit for 12 players =
(E)30(.00) - (E)24.5(0) =)  (£)5.5(0)
(Expected profit for 228 players
=228 x(£)5.5(0) =)
12

(£)104.5(0)

Bl

B1

Bl

Bl

FT ‘their 7’ (provided < 12).

FT ‘their (£)30(.00)’ — ‘their (£)24.5(0)".

FT 19 x ‘their (£)5.5(0)".

If the FT results in a loss, the ‘Loss’ must be stated,
or the answer left as a negative.

Organisation and Communication.

Accuracy of writing.

oC1

w1

For OC1, candidates will be expected to:

present their response in a structured way
explain to the reader what they are doing at
each step of their response

lay out their explanation and working in a way
that is clear and logical

write a conclusion that draws together their
results and explains what their answer means

For W1, candidates will be expected to:

show all their working

make few, if any, errors in spelling,
punctuation and grammar

use correct mathematical form in their
working

use appropriate terminology, units, etc

© WJEC CBAC Ltd.
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Sticky Note

This candidate has correctly calculated the expected profit and is awarded the full 4 marks. 
The candidate has presented the response in a structured way and there are labels explaining each step. The candidate is award OC1. 
The candidate loses the W mark as there is no units in the final answer. There is also incorrect mathematical form; we would expect money to written to two decimal places where pounds and pence are present. 



Sticky Note

 Marks awarded: B1B1B1B1 OCW1 
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Sticky Note

In this example, the candidate has correctly found £570 (the amount of money taken). B1 
They have then used an incorrect method to find the expected number of winners (33 people). B0 
All subsequent workings are correct; therefore we can award the final B1 B1 for their correct answer of £454.50. 
There are a lack of labels explaining each step or calculation. The candidate is award OC0. 
Correct units are given and there is correct mathematical form. W1 is awarded. 



Sticky Note


 Marks awarded: B1B0B1B1 OCW1 










L S'OtOpLaﬁonu. [ 42:50 wpayonce.

.tz SoxX 128 = AS30 1295 pedeL each. play once

. _Scote of 10 or more.= £3-80.

T12% 2128 = 133 The.pmba,bl.uty afgettmg

A Jcote of 10.or mopre= /n:L
}33 people.ore Wkely to

. . 9:.1*: d e ofl0.ox abow..

,4_3__.5@._;(._ IR = ;L..%S Jq B3 .people win £3:S6 each.

is#o 465 S0= ;l—ﬁomleadefmm

e laying dnce...
f;lO‘{- 50 praH_I: 5’-[-0 Yo S-S0 pr!l-e..

morw.y ‘;L- BY4--SO. .
e OO ...




Sticky Note

This candidate has correctly calculated the expected profit and is awarded the full 4 marks. 
Those candidates who divide their page into two vertical halves, should ensure that the explanations on the right are in line with the calculations on the left-hand side. 
In this example, the explanations on the right do match the calculations on the left. OC1 is awarded in this case. 



Sticky Note

Although the wrong units are given (cm2 instead of m2), they are still in the correct dimension. Correct units are given, and the mathematical form is correct. W1 is awarded. 

 Marks awarded: B1B1B1B1 OCW2 










(d) In this part of the question, you will be assessed on the quality of your organisation,
communication and accuracy in writing.

Players are charged £2.50 to play the game once.
Each player who gets a score of 10 or more wins £3.50.

How much profit would you expect to make when 228 people each play the game once?
You must show all your working. [4+2 OCW]

07
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10. The height of a cylinder is 24-8cm.
The ratio of the diameter of the cylinder to the height of the cylinderis 3 : 2.

Find the volume of the cylinder.

Give your answer correct to 2 significant figures.
You must show all your working. [5]

LA =5

PN ‘6-—-5 '—\ Qco

A Qe=2=948
A-45= YOS

\lC)\\)W\Q- TC('L \~\

LETUX LAl = LA-8
= O3Q- \8687‘6\
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10. (Diameter =) 24-8 +2x 3 OR
(Radius =) 24-8 + 2 x 3+ 2 or equivalent

(Diameter =) 37-2 (cm) OR (Radius =) 18-6 (cm)

2
T X (32—2) x 24.8 or mx 18-62x 24.8

= 27000 (cmq)

M1

Al

M1

A2

Sight of 1086 to 1087 (cm?) (base area calculated
with radius 18-6 ) OR 4345 to 4348 (cm?) (base area
calculated with diameter) implies first M1 AL.

If diameter AND radius given and radius # 18-6
either:

e award M1AO (for sight of diameter = 37-2) if
their stated radius is then used to find the
volume of the cylinder (2" M mark is
awarded) or

e award M1A1 (for sight of diameter = 37-2) if
their incorrect radius is not used to find the
volume of the cylinder (2" M mark is not
awarded).

May be seen in parts.

Accept 3-14 x 18-62 x 24-8 or equivalent.

FT ‘their stated radius’ OR ‘their stated diameter’,
provided it is halved at the appropriate stage.

For A2, must be correct to 2sf.
Al for an answer between 26 940 and 26 960 (cm?)
inclusive.

Note:
(Diameter =) 24-8 +5x3 OR
(Radius =) 24-8 +5x3+2 MO
(Diameter =) 14-88 (cm) OR
(Radius =) 7-44 (cm) A0

nx7-442x24.8 M1l

4300 (cm® A2
Al for answer between 4310 and 4314 (cmq) inclusive

If MO (2" M mark) then award SC1 for an answer of
either:
e 110000 (cm?3) (from use of & x 37:22 x 24.8
rounded correctly) OR
e 17000 (cmd) (from use of = x 14-882 x 24-8
rounded correctly).
FT ‘their stated diameter’ correctly rounding to 2sf for
this SC1.

© WJEC CBAC Ltd.
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Sticky Note

This candidate has interpreted the ratio incorrectly and used 24·8 ÷ 5, instead of 24·8 ÷ 2. M0A0 
However, the candidate has successfully found the volume of the cylinder using their stated radius. Unfortunately, the candidate has not given the answer correct to 2 significant figures as the question specifies. The very last A mark is lost. M1 A1 



Sticky Note

Marks awarded: M0A0 M1A1 










10. The height of a cylinder is 24-8cm.
The ratio of the diameter of the cylinder to the height of the cylinderis 3 : 2.

Find the volume of the cylinder.

Give your answer correct to 2 significant figures.
You must show all your working. [5]

LA =5

PN ‘6-—-5 '—\ Qco

A Qe=2=948
A-45= YOS

\lC)\\)W\Q- TC('L \~\

LETUX LAl = LA-8
= O3Q- \8687‘6\




Sticky Note

This candidate has incorrectly found the diameter/radius of the cylinder. M0A0 
However, the candidate has successfully found the volume of the cylinder using their stated radius. The candidate has also given the answer correct to 2 significant figures as the question specifies. M1 A2 



Sticky Note


 Marks awarded: M0A0 M1A2 
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Sticky Note

This candidate has correctly found the diameter and radius of the cylinder. M1A1 
However, the candidate has used an incorrect formula for the volume of the cylinder, therefore M0 A0 is then awarded. 



Sticky Note


 Marks awarded: M1A1 M0A0 
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10. The height of a cylinder is 24-8cm.
The ratio of the diameter of the cylinder to the height of the cylinderis 3 : 2.

Find the volume of the cylinder.
Give your answer correct to 2 significant figures.
You must show all your working. [5]

14
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In the diagram above, the area of triangle BCD is 60cm?.
Calculate the length of CD.
You must show all your working. (6]

AR+t = 256
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In the diagram above, the area of triangle BCD is 60cm®,

Calculate the length of CD.
You must show all your working. [6]

Brea z bocm? ..
L Sk AT et e





















11. (BC?=)9:6%+ 12:8% or equivalent M1 | note: (BC?=)92-16 + 163-84 (ignore place values for
M1)
Award M1 for the correct values substituted into the
Cosine rule.
(BC? =) 256 or (BC =) V256 Al
(BC =) 16 (cm) Al | Allow (BC =) +16 (cm).
FT from M1 for the correctly evaluated square root of
'their 256’ provided their answer > 12.8.
CD = 2 x 60 = 16 or equivalent M2 | FT ‘their derived BC' OR
‘their stated 16’ (not derived) provided
12-8 < ‘their stated 16’ < 22-4.
Award M1 for 60 = ¥ x 16 x CD or equivalent.
D=)7- Al
(CD=) 75 (em) Allow M2A1 for a correct embedded answer BUT
M2AO if contradicted by CD = 7-5 (cm).
11. _Alternative method:
Correct use of ‘two-step’ method M2 | A partial trigonometric method is MO.
(BC =) 16 (cm) Al
CD =2 x60 + 16 or equivalent M2 | FT ‘their derived BC’ OR
‘their stated 16’ (not derived) provided
12-8 < ‘their stated 16’ < 22-4.
Award M1 for 60 = %2 x 16 x CD or equivalent.
(CD =) 7-5(cm) Al

Allow M2A1 for a correct embedded answer BUT
M2AO if contradicted by CD = 7-5 (cm).











In the diagram above, the area of triangle BCD is 60cm?.
Calculate the length of CD.
You must show all your working. [6]

AR+t = 256
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Sticky Note

This candidate successfully used Pythagoras’s Theorem to find the length BC. Like many candidates, although 16 cm was found, an incorrect formula was used when dealing with the area of a triangle. In this case the candidate has forgotten that the base × height is then divided by 2. 



Sticky Note


 Marks awarded: M1A1A1 M0A0 










In the diagram above, the area of triangle BCD is 60cm®,

Calculate the length of CD.
You must show all your working. [6]

Brea z bocm? ..
L Sk AT et e




Sticky Note

This candidate is awarded M1A1 as there is sight of 256. Although the work has been crossed out, it hasn’t been replaced. Therefore, correct workings and answers can still be credited. 

 Marks awarded: M1A1A0 M0A0 













Sticky Note

This is an example of a ‘two-step’ alternative method. 
The candidate has used a correct method using trigonometric ratios but has given an incorrect answer of 15cm. 



Sticky Note

Candidates should be encouraged to check whether Pythagoras or Trigonometry is required when finding missing lengths in right-angled triangles. If this alternative method is used, then it must be correct. A partial trigonometric method is awarded M0. 
The candidate has then used an incorrect formula for the area of a triangle so M0A0 is awarded. 



Sticky Note


 Marks awarded: M2A0 M0A0 
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1.

A 12-8cm C

9-6cm Area = 60cm?

D

Diagram not
drawn to scale

In the diagram above, the area of triangle BCD is 60 cm?.
Calculate the length of CD.
You must show all your working. [6]

15
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10

7. In this question, you will be assessed on the quality of your organisation and communication.

Two rectangles are shown in the diagram below.

4cm 20cm

2cm

6cm

Diagram not drawn to scale

How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left.
You must show all your working. [3+10C]

10

© WJEC CBAC Ltd. (3300U10-1)

Examiner
only







18

14.

(b)

(i) A solution of the equation

5x3+15x=132

lies between 2 and 3.

Use the method of trial and improvement to find this solution correct to 1 decimal
place.

You must show all your working. (4]

18

© WJEC CBAC Ltd. (3300U40-1)

Examiner
only











(b) Subtract 532 from 700.
i Z00.~ 500 2200
Fo0 ~ 22 = 168




Sticky Note

This was a useful method but, unfortunately, the correct answer was added to a number in the working. B0










(b) Subtract 532 from 700.
700.- 500 =200











Question 14(b)(i)

(b) (i) A solution of the equation

Sx'+15x=132

lies between 2 and 3.

Use the method of trial and improvement to find this solution correct to 1 decimal
place.

You must show all your working. (4]

oot Bz ~70
SYTLISKD = (2o

5><1%5+15>(2 5= 5.6

X262t \Sx 2 6=126.4

57‘(2 PHoF=1333 .......__......fﬁi[fﬁﬁffﬁ[fffﬁff .











Question 14(b)(i)

(b) (i) A solution of the equation

Sx'+15x=132

lies between 2 and 3.

Use the method of trial and improvement to find this solution correct to 1 decimal
place.

You must show all your working. (4]

oot Bz ~70
SYTLISKD = (2o

5><1%5+15>(2 5= 5.6

X262t \Sx 2 6=126.4

57‘(2 PHoF=1333 .......__......fﬁi[fﬁﬁffﬁ[fffﬁff .




Sticky Note

In this example, by having two correct evaluations using x as 2·6 and 2·7, where one answer is less than 132 and one answer is greater than 132, the candidate has been awarded B1B1. 
In order to be awarded the next M1A1, two correct evaluations using x in the range 
2·55 ≤ x ≤ 2·65 must be seen, but crucially, one answer has to be less than 132 and one answer has to be greater than 132. If this is not shown, then no further marks were permitted, even though the candidate has given x = 2·6 as their answer. 



Sticky Note


 Marks awarded: B1B1 M0A0 










(b) (i) A solution of the equation

Sxi+15x =132

lies between 2 and 3. _ _ _

Use the method of trial and improvement to find this solution correct to 1 decimal
place.

You must show all your working. 4]

S K2 ISae e TR RO S
SrE +|n; 1Qo_+OC>h
sz S #16/(2 ;_‘* s 6 feo fc)w

SY 2, G fisxz.6 ’fZGQ z‘oc ’Q_w

Sx 2.2° Fi5x2.2 = (35 Utoe higr N—
5_?‘26537‘!5/(269.:'32 P e b

SX 2.60sx2.64 = /18316 too (0w

$ . x=z08s











(b) (i) A solution of the equation

Sxi+15x =132

lies between 2 and 3. _ _ _

Use the method of trial and improvement to find this solution correct to 1 decimal
place.

You must show all your working. 4]

S ta® - ISA2 ___.: 7() o O TR i s T
sz +|n; Z1gc _,4'09!\ .
SXZ S #!6/(2 5_* s 6 feo fc)w

SY 2. G fisxz.6 ’fZGQ z‘oc ’Q_w

Sx 2.2° Fi5x2.2 = (35 Utoe higr
57‘26537‘!5/(269.:’32 P e b

SX 2.60sx2.64 = /18316 too (0w

$ . x=z08s




Sticky Note

The candidate Is awarded: 
B1 for any correct substitution and evaluation. 

B1 for two correct evaluations using x in the range 2·55 ≤ x ≤ 2·75, but crucially one answer has to be less than 132 and one answer has to be greater than 132. 

M1 for two correct evaluations using x in the range 2·55 ≤ x ≤ 2·65, but again crucially, one answer has to be less than 132 and one answer has to be greater than 132. 



Sticky Note

Unfortunately, the candidate has incorrectly stated that the solution correct to one decimal place is 2·7. A0 

 Marks awarded: B1B1 M1A0 










(b)

(i) A solution of the equation

5x7 +15x=132

lies between 2 and 3.
Use the method of trial and improvement to find this solution correct to 1 decimal
place.

You must show all your working.

Sy S Sye

X
2
3

7.5
<6
21
2-&
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[Sx37 * Oxaz [0

—_—
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(b)

(i) A solution of the equation

5x7 +15x=132

lies between 2 and 3.
Use the method of trial and improvement to find this solution correct to 1 decimal
place.

You must show all your working.

Sy S Sye

X
2
3

7.5
<6
21
2-&

Sx2° + ISx2: 38 Yo
[Sx37 * Oxaz [0

—_—

SX2SSAISx2ST/ls-62
S X2 63 7‘ I Sxs g sl 8- 3% —
SX2-334Sx2-3- 3395 |
X263 + Sx2 65 1SLIR |

0 Fe I Y N



Sticky Note

The candidate Is awarded: 
B1 for any correct substitution and evaluation. 
B1 for two correct evaluations using x in the range 2·55 ≤ x ≤ 2·75, but crucially one answer has to be less than 132 and one answer has to be greater than 132. 
M1 for two correct evaluations using x in the range 2·55 ≤ x ≤ 2·65, but again crucially, one answer has to be less than 132 and one answer has to be greater than 132. 



Sticky Note

The second candidate has not read the requirement of the question properly and given an answer to a greater degree of accuracy than was asked for. 

 Marks awarded: B1B1 M1A0 
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Sticky Note

The bars are not all the same width so the third B mark cannot be awarded despite them being the correct height.










OER Q7

E Diagram not drawn to scale

How many small rectangles will fit exactly into the large rectangle?
The small rectangies must not overlap and there must be no space left.
You must show all your :v;orking. [3+10C]

'\l

éSMc{ LVZCEC,(\.CO\,;L.&M(.L?{(_’\/\ ...............................
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OER Q7

E Diagram not drawn to scale

How many small rectangles will fit exactly into the large rectangle?
The small rectangies must not overlap and there must be no space left.
You must show all your :v;orking. [3+10C]

'\l

éSMc{ LVZCEC,(\.CO\,;L.&M(.L?{(_’\/\ ...............................
...... o bMLc@QY&ctcm(jkz
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Sticky Note

A very common error was to work out correctly that  5 rectangles would fit across the top and three down the side but then add 5 and 3 instead of multiplying them. 
For the OC mark, the numbers 5 and 3 had to be labelled across and down appropriately. These labels are missing from this example. B1 M0 A0 OC0
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Diagram not drawn to scale

How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left.
You must show all your working. [3+10C]
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Diagram not drawn to scale

How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left.
You must show all your working. [3+10C]
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Sticky Note

This method uses the areas of the two rectangles. The numerical method and answer are correct. However, the word 'area' was essential to be awarded the OC mark. It is missing here. B1 M1 A1 OC0










Diagram not drawn to scale

How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left,
You must show all your working. [3+10C]
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Diagram not drawn to scale

How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left,
You must show all your working. [3+10C]
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Sticky Note

Correct calculation but no labelling of 'across' and 'down'. B1 M1 A1 OC0
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How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left.
You must show all your working. [3+10C]
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How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left.
You must show all your working. [3+10C]
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Sticky Note

This correct answer is awarded full marks. B1 M1 A1 OC1










7.(Number across = 20+4=)5

OR ( Number down =6+2 =) 3 B1 Sight of 5 or 3, not in incorrect statement or working
(Total number of small rectangles =) 5x 3 M1 | FT ‘their stated across and down’
15 A1 CAO
7. Alternative method
(Area rectangle A=2x4=) 8 (cm?) OR
(Area rectangle B=6x20=) 120 (cm?) B1 Sight of 8 or 120, not in incorrect statement or
working
(No. of rectangle A=) 120 + 8 M1 | FT ‘their stated areas’
15 A1 CAO
Organisation and Communication OC1 | For OC1, candidates will be expected to:
e present their response in a structured way
e explain to the reader what they are doing at
each step of their response
¢ lay out their explanation and working in a way
that is clear and logical
e write a conclusion that draws together their
results and explains what their answer means
2
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14. (b)()
One correct evaluation 2 < x < 3
2 correct evaluations 2-55 < x < 275,
(one value < 132, one value > 132)

2 correct evaluations 2-55 < x < 265,
(one value < 132, one value > 132)

X=2-6

Bl
Bl

M1

Al

Correct evaluation regarded as enough to identify if
<132 or >132. If evaluations not seen accept too
high’ or ‘too low’.

Look out for testing 5x3 + 15x — 132 = 0 or x3 + 3x = 26-4
or equivalent

X 5x° + 15x

2 70
2.1 77.805
2.2 86.24
2.3 95.335
2.4 105.12
2.5 115.625 2.55 121.1568...
2.6 126.88 2.65 132.798.....
2.7 138.915 2.75 145.234......
2.8 151.76
2.9 165.445

3 180












